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Q6. is the synonym of "COMMEMORATE".

A. Gather B. Enjoy

C. Remember D. Manipulate
Q7. is the antonym of "STAUNCH".

A. Disloyal B. Strict

C. Adamant D. Reluctant

Q8. Identify the meaning of the idiom in the sentence.
"The opponents are six times winners of the trophy; you'll have to step up your game to
qualify for the finals.”

A. Start performing better B. Meet the referee

C. Do something unexpected D. Change the game strategy

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence.
"The swimmer was dragging away on the shore by a strong current.”

A. The swimmer is dragged away from the shore B. The swimmer was dragged away at the store

by a strong current. by a strong current
C. The swimmer was dragged away from the D. The swimmer was dragging on the shore by a
shore by a strong current. strong current.

Q10. Complete the sentence by choosing the correct form of the verb given in brackets.

It was pitch dark; however, there (be) a ray of light that came from the farmer's
hut.

A. was B. is

C. can be D. could be

Q11. Union Railway Minister Shri Piyush Goyal recently dedicated India's first Railway
University to the nation. This university is in

A. Jagadhri B. Patiala
C. Jodhpur D. Vadodara
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Q11. & @ vt 5ft g TTreret 7 BTt & # WA 1 Tean ol foraferenery g 1 wfiq foraml a8 foraformem
H el

A. STaTERT B. gfearer

C. sy D. @slexr

Q12. Who was the British Governor General when India became a free nation?

A. Sir Winston Churchill B. Lord Mountbatten
C. Clement Richard Attlee D. Viscount Wavell

Q12. v v weh Tad g w1 36 e fsifew et s i 972

A. W Frea afda B. IS AT3cace

C. Fade Rasg vealr D. faww3e aaa

Q13. The community demonstrated one of the earliest "Chipko Movement" to
prevent felling of trees and destruction of forests.

A. Ahir B. Ghujjar

C. Bania D. Bishnoi

QL3. =& ot sheré ST Sivredt 25 forer b Aokt 3 forw T et TR 3 " stide e o

A. 3ER B. J[eok

C. aferar D. fyeag

Q14. Yakshagana is an important of Karnataka and some parts of Kerala.

A. Folk music B. Folk theatre

C. Classical dance D. Classical music
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Q14. e, et % Fo feedlt it ek 1w Heeaqyd 2
A. deh TafreT B. dlleh oAlcT
C. & 5T D. A&y Hafret

Q15. Kunal, the pre-harappan site, was discovered in Haryana at

A. Hisar B. Fatehabad
C. Sirsa D. Bhiwani
Q15. -z woret - Fur, wfamn # ¥ oRIT T o

A. feaR B. WdgTeIG
C. faar D. foartr

Q16. When the President rule was imposed for the first time on Haryana State, who was the
President of India?

A. Shri Rajendra Prasad B. Shri V.V. Giri
C. Dr Zakir Hussain D. Shri S. Radhakrishnan

Q16. fer guar 2R T T Teed ST TSgHfd TG S AT T O, S Y S o Tegatd i 97

A. 5Y Taie 9aTS B. & dr.dr. iy

C.a”.mﬁwg@?r D. 1 TH. TLTHSUTH

Q17. Prithvi Raj Chauhan was defeated in the Second Battle of Tarain by

A. Mahmud Ghazni B. Muhammad Ghori
C. Qutb-ud-din Aibak D. Akbar

QL7. gosft s e, rd 1 guit crerd & e o

A. HEHG TPl B. AlgFHe Ry

C. FJI-3¢-Ef VT D. 3ehe}
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Q18. As on 1-April-2019, Shri Satyadev Narayan Arya is the current of Haryana.
A. Speaker of the Assembly B. Chief Electoral Officer

C. Chief Justice D. Governor

Q18. 1-318@-2019 e, #ft wedar T St wfeEon % e & &l

A. TaurasT 3regst B. H&Y aTa ARSI

C. 7T =grarefier D. T=gurel

Q19. Under the recently announced Uchch Shiksha Loan Yojana by the Haryana Government,
which of the following is NOT a criterion for eligibility?

A. The applicant should be the permanent B. The applicant should be at least 12th passed.

residence of Haryana.

C. The age of girl should be 18 years or above. D. The girl must belong to any of the Scheduled
classes.

Q19. s TR g B @ § Sifta o e /o1 AT F 98d, T % o Frefatad § § #F 91 U aee T8 87

A. 37Tdce gRAToT 1 TR fAare giar arfgu) B. 3Tdees &F H &H 12 df I glar A1 v|
C. Tz &1 31y 18 a¥ a1 35W 3 gl Tife D. ez fohdlr off 3ggfad oot & glelr =R

Q20. As on 1-April-2019, Shri Krishan Pal Gurjar serves as the Minister of State for Social
Justice and Empowerment in Government of India. He was elected from
constituency in Haryana.

A. Ambala B. Jind

C. Faridabad D. Sirsa

Q20. 1-313@-2019 e, it FwT o HRA TTHR H HHTSR =1 S AR Uo7 H5 % &0 # FrE © 9w
— |

A. 37€TelT B. Sfig

C. ®wilcEe D. fawar
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Q21. How many players from Haryana found a place in the recently announced World Cup
Squad for the ICC World Cup 2019?

A0
C.2 D.3

Q21. ICC fag #v 2019 ¥ fu =1t & & =ifva for o7 1 A9 § 2REmom & fraw Raafeat #1 sire fieft 272

A.0
C.2 D.3

Q22. The Defence Minister of India formally inaugurated the Information Fusion Centre -

Indian Ocean Region (IFC-IOR) at , Haryana.

A. Gurugram B. Panchkula

C. Ambala D. Panipat

Q22. yr % e w5t T sitr=nfeck &7 & oA Hore &5 - fég wewamw & (IFC-10R) = , Efemn i
35T TRl

A. TBITH B. derspell

C. 3farerm D. 9reidd

Q23. In the dance form, girls stand in two rows and the song is in the form of
questions and answers between the girls.

A. Loor B. Dhamal

C. Daph D. Gugga

Q23. I3 &9 H, iRt 3t uftrai § @t gt § R T 37 et ok ot FH-3 % §9 | g 2

A. T B. AT

C. 3% D. T?I'I'
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Q24. dance is exclusively performed by men.
A. Gugga dance B. Daph
C. Raas Leela D. Phag
Q24. Fe oy &9 | el g fopam Sfreft 21

A. T3 I B. 3%

C. TH dfrerr D. BT

Q25. Who was the first official state poet of Haryana?

A. Nishchal Das B. Vakpatiraja
C. Vishnu Prabhakar D. Uday Bhanu Hans

Q25. g ¥ weer s TR FRT FT 9?
A. oo g B. areFafaraT

c.%mll;rw D.maqrrorg';r

Q26. Which is the second highest literary award in India?

A. Sahitya Academi Award B. Sahitya Academi Fellowship

C. Jnanpith D. Saraswati Samman

Q26. v  gorr weitesr wffeah qEEHT B a1 87

A Aifeca opica] gRTP B. aifeca APicAl TR

c, UG 5 TIEIAl GFAT

Q27. Sahitya academy recognizes Indian languages and one literary award is given for
works in each language.

A. 22 B. 20

C.24 D. 18
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Q27. wifees srepresht T T3 BT HT=IAT 3T & ST STk SITT 3 ek T % fofu Uk Anfefereh qreapmt faam
ST R

A. 22 B. 20

C. 24 D. 18

Q28. The river Markhanda is the tributary of river.

A. Ghaggar B. Yamuna

C. Kaushalya D. Dangri

Q28. nrhe =, T it e T R

A. TR B. I

C. ierear D. SERT

Q29. Which canal emerges from the Hatni kund barrage (Dam)?

o8]

A. Bhiwani Canal . Western Yamuna Canal

C. Indira Gandhi Canal

Q29. zorft she et (arer) & i a1 Tet e 27

)

. Gurgaon Canal

A. faarET J8T B.qf%\zm‘rmgmagx

C. gfexT el Agx D. 59T AgT

Q30. Where is Kaushalya dam located?

A. Palwal B. Pinjore
C. Mohan Nagar D. Babiyal
Q30. st srier et o 872

A. gorgd B. fiSiit
C. HIgeT R D. sfeaTel
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Q31. Identify the district that is irrigated by the Western Yamuna Canal.

A. Jhajjar B. Faridabad

C. Sonipat D. Mahendragarh
Q3. uferft = et grr fifera fored 21 1w srad]

A. ETooR B. WIGEG
C. Qread D. AggG

Q32. How many deer parks are there in Haryana?

A. 1

C. 4 D. 0
Q32. i F s fawor urd 27

A. 1 B. 2

Q33. Each municipal area is divided into territorial constituencies known as

A. Panchayat B. Wards

C. Zila Samiti D. Districts

Q33. yeish rarferert & i Rk gt # foforg R R @ s Smar )
A. gaTId B. a5

C. e wfafa D. fSem

Q34. Executive Powers of Municipal Corporations are vested in

A. Deputy Mayor B. District Judge

C. Municipal Commissioner D. Mayor

December 12, 2019
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Q34. e faeit % 34 HRT Y Ffth 1 e 272
A. STE AW B. e =gramedrer

C. IR 3G D. HgI4iX

Q35. Who appoints the Deputy Mayor of Municipal Corporations?

A. Municipal Commissioner B. Mayor

C. Councellor D. District Judge
Q35. e et 3 39 et Bt Pl i st 27
A. IR 3 B. AgMAR

C. 9UHLETT D. f5em a1

Q36. To open find window, which function key is used?

A.F1 B. F2
C.F3 D. F4

Q36. feier wivr  ferw, foer sherert shsft o1 ST fofaT e 27

A.F1 B. F2
C.F3 D. F4

Q37. Which is the best-known bird sanctuary in Haryana?

A. Sultanpur B. Bharatpur
C. Rajaji D. Sariska

Q37. zfemom = wow witg vaft snmEweT Hi |t 22

A. gedlaqX B. #AYX
C. TSl D. aREr
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Q38. The Chief Minister of Haryana, Manohar Lal Khattar, launched the 'Mhara Gaon Jagmag
Gaon' on July 1, 2015. What is the main aim of this scheme?

A. Build toilets in villages B. Paint the villages in a uniform colour

C. Provide 24-hour uninterrupted power supply to D. Keep the villages neat and clean
villages

Q38. zfemm % wearEt wHie ot @t 3 1 e 2015 1 ST T ST e b1 e B 56 AisE w5 e
F 27

A. et # Lfteery Se e B. aMMdl Y Teh S FATeT T & € el
C. a1iat Fr 24 b & foarer fSsrelr 3mafe ver & D. aTidT ST HTh-FRT TG

Q39. Which of the following option represents storage unit from largest to smallest?

A. Bits, Bytes, Kilobytes, Megabytes B. Bytes, Bits, Kilobytes, Megabytes
C. Megabytes, Kilobytes, Bytes, Bits D. Megabytes, Kilobytes, Bits, Bytes
Q39. = & & =i @ foshew vl 5t A B Y B w0 gohré k1 wfeifre war 27

A. foca, stsea, fehdleTsed, Avmersed B. sTgeH, fieH, fhellaTsed, Admaged
C. AenaTSCH, fhearsew, aseH, facw D. AamarseH, fhetarsey, facw, asca

Q40. Pick the odd one out.
Uranium, Radium, Caesium, Calcium

A. Uranium B. Radium
C. Calcium D. Caesium
Q40. 3TETd T = F

A. QfaTH B. ¥f3TH

C. HferaA D. Hfag#
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QA41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
this pair:
Perseverance: Success ::

A. Curiosity:Knowledge B. Money : Wealth
C. Student:Book D. Dance : Performance
QAL. we forshew = <t Feferfiaa St S gesrr feame &1
3T | FhardT &
A. T AT B. 44T : &7
C. B : J&dsh D. e : vede

Q42. Find the analogy

144:13:: 256: ?
A. 289 B. 324
C.17 D. 31
Q42. waTaT 2

144 :13::256: 7
A. 289 B. 324
C.17 D. 31

Q43. In a coding system, if HEAD is coded as EYE, EYE is coded as NOSE, NOSE is coded as
MOUTH, MOUTH is coded as TONGUE,and TONGUE is coded as TEETH,then; name
the part of the body that is used to smell?

A. MOUTH B. TONGUE
C. TEETH D. HEAD

Q43 @qﬁgwﬁ., Elﬁ ‘%_{9 a’ﬁ. csﬁ'@.” csﬁ'@.’ a’ﬁ. c:na;’, ‘:Fla?’ <‘>h3f c.a%.” ‘1\3!;'6" a’ﬁ. ‘\_:ﬁ"ﬂ"’ ‘\_:ﬁ"q’ a’ﬁ. 431?'.7 WW%,
AT I o W AT BT AT FAT ST (STHHT FedwTet G o ToAQ fopam s 87

A. :3;-5' B. ST

C. g D. X
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Q44. In a factory, the sales of a product increases from 30 thousand units to 45 thousand units
per year. What is the percentage of increase?

A. 15% B. 20%
C. 35% D. 50%

Q44. weh wHr@m #, Tk 3eare 1 fersht woh et #§ 30 TR T & wge 45 B ghE 21 T R) df b wfererd e 872

A. 15% B. 20%

C. 35% D. 50%
45, 3

Q45-3/8000->

A. 8 B. 80

C. 20 D. 40
45. 3

Q4-3/8000->

A. 8 B. 80

C. 20 D. 40

Q46. Rinku buys a book for Rs. 250 and sells it at a loss of 15%. What is the selling price of the

bhook?
A. 210.25 B. 225.75
C. 212.50 D. 234.75

Q46. fiz 250 w3 # Tk TEae TliedT € 3 38 15% % TR T ST 31 I8 1 forshd g e 37

A. 210.25 B. 225.75
C. 212.50 D. 234.75
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Q47. 1f 4x - 15 =9 - 2x, what is the value of x?

A. 3
C.6 D. 4

QA47. 3fs 4x - 15 = 9 - 2X &1 dr X %1 7 fheT 22

Q48. The audible range of the average human ear is

A. Below 20 Hz B. Equal to 20,000 Hz
C. Between 20 Hz to 20,000 Hz D. Above 20,000 Hz
Q48. sftea ara s s 2rea wa Bt 2

A. 20 Hz O & B. 20,000 Hz & SRR
C. 20 Hz ¥ 20,000 Hz & = D. 20,000 Hz ¥ 31

Q49. What is the chemical name of washing soda?

A. Sodium bicarbonate B. Sodium carbonate

C. Sodium chloride D. Sodium hydroxide

Q49. =iifi drer =1 TR T T 27
A. TIf3d SEFEe B. @ifsge wefae
C. OifzaH FaRss D. QI3TH gEsFass

Q50. When we add yeast to the cake dough, it

A. increases warmth B. increases sweetness

C. reduces sourness D. speeds up fermentation
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Q50. ¥ ¥ 211 § @it T |,

A. 3T ¢ ST &

C. TTeT9eT FF gl AT &

B. Porg s Sirar &
D. frvae Fr afa &

Q51. What is the criteria that the employer must ensure when the portable fire extinguishers are

present?

A. Should ensure that the extinguishers are
located far away

C. Should ensure that the extinguishers are
decorated

B. Should ensure that the extinguishers are not
charged

D. Should ensure that the extinguishers are fully
charged and operate properly

Q5. désret sifiremmes @ Sufterd B W = qe ¥ e et b gifaa e =fee?

A.gﬁﬁﬂamﬂmﬁ?aﬁ%mﬁ?a@qﬁaﬁ B. gTRad &¥aTr a@ifeT i ARy s a7 HafRd (rer)

g
C. giAREd el =g T f& 3rfTeemss a7 garoord &

Q52. How do you define electric current?

A. Electric current flows from negativity charged
to positively charged materials

C. Electric current is defined as the difference
between the charged particles

Q52. forg o1 1 311 35 e T2

A. faegd URT HUMCHS T ¥ AR Gard & UelcAs
T A AR gare H 3R yarfed gl

C. AR Folt F HeT el Y GG IR Fg £

December 12, 2019

e E
D. FiATRET e =i & 3ifFeremees a7 qot &0 @
AR (T1e3) Td 8 & FaTford &

B. Electric current is the flow of materials

D. Electric current is defined as the measure of
protons

B. faege 4RT verdf &1 vag &

D. Srele &1 AT 1 fagge T Fg ¢
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Q53. What does the Ohm's law state?

A. It states that the potential difference across the B. It states that the electrical current flows

conductor is directly proportional to the flow of
current.

C. It states that the charges across the conductor
is directly proportional to the flow of current

Q53. =7 =7 T = e 27

through is directly proportional to the potential
difference across the conductors.

D. It states that the voltage across the conductor
is directly proportional to the current flow in the
conductor.

A. IE el ¢ o Targsh (Fse) A fa91d 3=k, URT & B. Ig hgdl ¢ foh Farfee glel arell faegciid &R et A

vaTg & W e g 3

C. Ig FgdT ¢ [ el & 1A (I1ST) ORT & YdTg &
e 3rTegaricreR g1 &

farera 3ra & T eranfae gl &

D. Ig Fgal & & Feaet A dieesl 39 vared ORI &
e JrTegaTicR g1 &

Q54. What is the mathematical form of Faraday’s first law of Electrolysis?

A. m=ZQ
C. Z=-Q/m

Q54. %R 3 ferega arwsret & worm e o1 wiforefier &9 o 22

A. m=ZQ
C. Z=-Q/m

Q55. What is the principle of Electromagnetism?

A. A straight current carrying conductor which
creates a circular magnetic field which is
perpendicular to the conductor in a plane

C. A current carrying conductor that is
cylindrically wound in a cylinder

December 12, 2019

B. m=Z/Q
D. m=-Z/Q

B. m=Z/Q
D. m=-Z/Q

B. A straight current carrying circular magnetic
field which creates lines of force that is parallel to
each other

D. A current-carrying circular conductor that is
parallelly wound in cylinder
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Q55. fermga-Trarshed (3oiimfesH) 1 fergrea 1 87

A. Teh FT HIC HRSI H5eFe Sl foh Teh Hehol AIelfesh B, Teh T FC HRST Aok Aalfeah fthes S aged
fthes Giold &Yl & ST 7o Ueh Tolol # hsdel & ofFdad  3HTh B Fiold T ¢ Sl o Teh-ga@x & FAICR gl

gIar 8l gl
C. Toh i HigaT e Sl foh Ueh fAeist A [Folegiehell  D. Teh Fc-hRgI Heho hseed il foh [elst &
q13us i gl QIeTeTell aT30s g gl

Q56. What is the importance of Earthing in Electrical system?

A. Minimizes risk of electric shock. B. Electrifies the static charge.

C. Accumulates the stray voltage. D. Eliminates the voltage.

Q56. szt fawem § 3R %1 F we 22

A. faSTelt & e (Saifdee e ) &1 & FdT o B. TAfdeh 3Tder A1 e cliehed 3l B
C. ST gU aleest & ThiAT Hh & D. dlecsT &l @eA T g

Q57. What are the two standard commercially available digital logic gate forms?

A. SSI and MSI B. SOC and PIC
C. TTR and ECL D. TTL and CMOS

Q57. fefvrest wifires e % afifvars &1 & Suersd a1 A (RUes) &0 Hi &7
A. SSI Tg MSI B. SOC ©d PIC

C. TTR wd ECL D. TTL ud CMOS
Q58. What are the two methods of Electrical wiring?

A. CTS and TRS B. Tee system and Cleat system

C. Joint box system and Loop-in system D. Caping system and Casing system
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Q58. saifaee amaftr #i a1 faftrt == 82
A. CTS ©d TRS B. & f¥c# va Flle Aeed
C. Siige i faFen vd ou-31 fweH D. FfRier RTed va HiHT Beew

Q59. Which instrument is used to measure the utility frequencies?

A. Multimeter B. Electromagnetic Wattmeter

C. Energy meter D. Tachometer

Q59. switfirar it smafer (afeferdt siaaieh) =t o & forw T Syshtr s # o €2

A. AfeeHe B. SeldgiATsifee arcHIe
C. geTait #HIex D. P

Q60. What is the high speed running capability of Universal Electric motor ?

A. From 8,000 to more than 20,000 rpm B. From 2000 to more than 8000 rpm
C. From 20000 to more than 80000 rpm D. From 800 to 2000 rpm

Q60. Ffarefer seifirer wiet % s 1 o= iy aawwar 7m 7
A. 8000 & 20000 rpm ¥ 3 B. 2000 & 8000 rpm ¥ 30

C. 20000 ¥ 80000 rpm ¥ 3ifds D. 800 & 2000 rpm

Q61. What do you mean by Instantaneous value of an Electric Current?

A. It is the value of an alternating current at a B. It is the value of an instantaneous quantity in a
particular distance in the cycle. cycle.

C. It is the value of an alternating quantity in the D. It is the value of a quantity of time at a
cycle at a particular instant of time. particular distance of the cycle.
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Q61. w= I T o qTchTicreh W & STTIehT dTcad a1 27

A. Tg Th(ATSHeT) H Uk TaAY gff W T YeA1addt YT B. TG Teh sk H Ueh Alcahlicleh HTAT I AT B
T A g

C. Ig Tsh A AT & [AAY &707T W T YcA1acli AR T D. g Tsh 1 gl [AAT 9T qHT T AT 1 A B
AT 8l

Q62. What is the thermal conductivity of the aluminium metal ?

A. 253 mk/W B. 235 W/mK
C. 253 W/mk D. 235 mk/W

Q62. wegfufiam arq i Swidr el areshar (onfer shefefdt) w=m 2?

A. 253 mk/W B. 235 W/mK
C. 253 W/mk D. 235 mk/W

Q63. What is the power dissipated by a transistor equal to at any given time?

A. Equal to the product of collector-emitter B. Equal to the product of power ratings and
voltage and collector current ambient temperature

C. Equal to the ratio of collector current to the D. Equal to the ratio of collector-emitter voltage
base current to the collector current

QG63. feft 2T 7T W T U IR SR AT UTeR e W 27

A. FoleFeT-3AT dlodsT Ud Holdel-hC & UAhe & B. Ira eI Td aTcaRofi daale & IOTAthel & FHTA
AT

C. Foleet T HT 97 FC & TY 4T & FHATT D. heleFel-gMAeT aleest HT holaed T & ATY Hedrd
& FHTT

Q64. What are the two types of coaxial cables used in the entertainment system?

A. Yellow stripe & Red stripe B. Blue stripe & Orange stripe
C. RG-95 & RG-9 D. RG-59 & RG-6
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Q64 s o # STk hiufereEet et o &1 ST 4T &7
A. 9ol 92T Ug offel geer B. afrelr gger ua At et

C. RG-95 ©d RG-9 D. RG-59 ©d RG-6

Q65. What is the outer frame of the DC generator motor called?

A. Commutator B. Yoke

C. Armature D. Pole

QB65. et St Hiet 1 wTeT $hH T el 27
A. HFEIET B. 3
C. 3R D. grel

Q66. What happens to time when braking torque decreases with an increase in the armature
resistance?

A. It decreases the time of regeneration B. It increases the time of braking

C. It decreases the time of braking D. It increases the time of regeneration
Q66. s rrver i F afy 3 FTor AT 2% 9 BT & a9 T BT 32
A. I8 RSN & GHT & 7 HIdT & B. Ig sfdheT & AT Y Forar &

C. I8 31T & THAT T FH AT § D. I8 RSN« & AT &Y FeIdT &

Q67. What is the ambient temperature range of the tachometer that it can handle?

A. -30 to +70°C B. +30 to -70°C
C. +20 to -70°C D. -20 to +70°C

Q67. 2xrtfier 3 ararawiia qrwe 6 i 7 ¥ R 78 Yred kT 27

A. -30 & +70°C B. +30 & -70°C

C. +20 & -70°C D. -20 & +70°C
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Q68. What are the two standards that guides the method of calculating efficiencies?

A. I2R and ICE B. NEMA and IEC
C. NAME and ICE D. NAME and I2R

Q68. 21 are o & S R armdTe Y TOT S ATl el @ ariest w 7
A. I2R T ICE B. NEMA Td IEC

C. NAME ©g ICE D. NAME t©g I2R

Q69. What happens to torque when magnetic locking takes place to the synchronous motor?

A. It becomes Zero B. It becomes infinity

C. It is increased D. It is decreased

Q69. fomrier diet W s Jrrshi ATeTsdl (Ffeeh wiifen) 81 o ik ot e 27

A. I8 SIRT g ST g B. Ig 31 &1 1T &

C. Ig §¢ 1T gl D. Ig %A gl ATl g

Q70. What is the method adopted to reduce the parasitic capacitance effects between the
primary coil and the secondary coil of the transformer?

A. A method of winding a step up transformer B. A method of winding a step down transformer

C. A method of winding in a parasitic capacitance D. A method of winding in a capacitive coupling
Q70. Ziwwmit i wTerdt @ devel) wigd % Ao WETERF FURGEY ThHae I A H o FoIC 0w ST vl e 7 272
A. TEHEFR T Teh FT AT drsfser i e fafe B. TIAHIAY &I Ueh TU 3137 drgfsel I Tah fafer

C. Wrarefes Fufaey # arsfser & v fafer D. &9fadia swufeler # arsfser $r v A

Q71. What would be the coil span, if the span of the coil is reduced by a electrical degrees?

A.90 + @ B. 180 - @
C.180 + @ D.90 - @
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Q71. oz #iee 1 @ TAfFeha FEft ST FeTT ST & A Hiset T T BTT?

A.90 + @ B. 180 - @
C.180 + @ D.9%0 -

Q72. Which part of the eye is responsible for dim light/night vision?

A. Cones B. Retina
C. Iris D. Rods

Q72. st =1 e fewan w2 wehw/afy 3 % fog Rreer 272
A. el B. ¥fear
C. 3msRa D. AsH

Q73. What are the power-limited circuit cables in the control circuits?

A. CL2, CL3 and PLTC B. CM, CMR and CMP.[2]
C. 508 and 60947 D. M-8 and M-12.[3]

Q73. g wfehe # wran-fafires wfthe e Hiaet §2
A. CL2, CL3 ©g PLTC B. CM, CMR Tg CMP.[2]

C. 508 ©a 60947 D. M-8 Td M-12.[3]

Q74. What does the black wire in a Single phase 120V AC in NEC denote?

A. Earth Conductor B. Neutral
C. Phase or Line D. Line 2

Q74. NEC # Rt %a 120V AC & e ar &1 2 atar 272
A. 3 FsFX B. =ge

C. B 1 51 D. oS 2
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Q75. How do you define Contactor?

A. It is a large relay which is used to switch the B. It is a small relay which is used to switch the
current to an electric motor or any other high- voltage to an electric motor or any other high-
power load. power load.

C. It gives the relay the property of time-delay D. It gives the relay the property of voltage-delay
actuation. actuation.

Q75. Freger i 7 HY yfeniig HEr?

A. I8 T oTel Rt § St foh teh gaifdes Avex ar fadr B. I Ts TATST Reor § St foh vah gaifdes A a1 3=
3T §THAT AR & i fEad Flal & A AT gl &TAAT HR &l dlecol ¥ad et & HIA ATAT g

C. Ig Rol T eT3H- 31 TFquer 7 0T Yeral AT &1 D. Ig Rl T dleesT- 3ol Tarquere & 07 Fele e gl

Q76. What is the use of anode in a water heater?

A. It protects the tank from corrosion B. It is used to set the temperature to a certain
value
C. It is used for non-maintenance of the tank D. It is used for lowering the fuel consumption

Q76. ue arex dex T THE F FT TENT 22

A. I% &ROT ¥ & ! 91T gl B. g U fATRTd AT de dTIaATd &l A Fled & P
37T 81
C. Ig && & AlT-Aedaled & fIT g g B D. Ig S T WIT T Hd et & HIH 37T &

Q77. Which one is an example for Impulse Turbine?

A. Francis Turbine B. Pelton Turbine

C. Kaplan Turbines D. Propeller Turbines
Q77. Suew et % forg 1 @1 Sarew &2

A. BT exaTST B. Uoce caTSsT

C. HTellel ABA D. WYeR &St
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Q78. Which fuel is considered as the dominant Nuclear fuel in the Nuclear reactor?

A. Aluminium B. Thorium

C. Uranium D. Lithium

Q78. fscrert fruget # F $u A1 g $uF THAT ST 27

A. tegfafags B. aiRTH
C. s D. fafdzs

Q79. What causes the rises and falls of the water levels in the sea during tides?

A. It is caused by the gravitational attraction of B. It is caused by the gravitational attraction of
the Water the Moon

C. It is caused by the gravitational attraction of D. It is caused by the gravitational attraction of
the Earth the Atmosphere

Q79. sam-srrer % drem agg # T % T § SR T i oh F0T T 82

A. TE TTell o EcaTehYUT & HROT BIell & B. Ig TUeGHT oh JocaThUT & HRUT BIcll &
C. Ig g & F&cATHYOT & HROT Bl & D. ¥ dTCTaRUT & I[&calehyul o HROT BIclT & |

Q80. What is a breakdown voltage of an insulator?

A. Insulators become conductive electrically when B. Insulators become conductive electrically when
a large amount of voltage applied that makes the a large amount of current applied that makes the
electrons flow away from the atom. protons flow away from the atom.

C. Insulators become conductive electrically when D. Insulators become conductive electrically when
a large amount of current applied that makes the a large amount of voltage applied that makes the
protons to flow towards the atom. protons flow towards the atom.
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Q80. we grgetet 1 SeheTe diees T 27

A. SIS T §3) AT & diccsl Tealls ohaT ST & St [ B. ST§ Ush 931 AT H e Toalis fhar SiTar & 5t [

SAFLIH P WAY] § G alfed Fcl &, $gaicd SIS T GRATV] A & Farfed el &, §geled faegda
faegeirer garerh &1 S g1 et gl ST &

C. 3T Ush §3Y AT & e ToaTs har Srar § st D. ST T 931 AT 7 dlecol UoaTs T STdr § it i
SIS &I TRATO] &1 3 Farfed HAT §, Fogoicy WIS T AL &Y IR Farfed Fdm &, sgeled
[EERRIRESEICE NI IGR] [EEUGIRECICE NI GRS

Q81. How are the cables classified based upon the number of conductors in the cable?

A. Voltage rating of the cable and Construction of B. Low tension cables and High tension cables
cable

C. Belted Cable and Screened Cable D. Single core cable and Three core cable

Q8. et # sheeil shi TEAT % IFTUR T heied i 38 T arfiehd o Sirm 82

A. Fac HY dreest YT U Faol T gATGE B. o &7 e UG gl ¢l haod
C. 90¢3 shad Ud Thig Fdel D. A9l FR Fhaol T A PR dHaol

Q82. What are the electrical fault limiting devices?

A. Generators, motors and switching circuit B. Transformers, reactors and switching devices

C. Relay, fuse and circuit breaker D. Insulator, circuit and conductors
Q82. ferera S swshuvit <A1 €t e orm 7

A. SeReX, Aex tg fEafr afée B. TiaweR, Rugex va Rafder 3uaor
C. Rel, ¥l Ud Hishe sl D. segaieY, Hfdhe Td FHsFey

Q83. Where does the value lie for a low voltage circuit in a circuit breaker?

A. It lies below 2000V B. It lies below 1000V
C. It lies below 2500V D. It lies below 1500V
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Q83. w affe 35 § i Fieest afthe F R 71 e war 272
A. Ig 2000V & A T g B. Ig 1000V & sf=r Igar &

C. I8 2500V & I w@ar g D. Ig 1500V & I w®ar &

Q84. What happens if a voltage of about 0.7 V is applied across the base and emitter of the
NPN transistor?

A. A small voltage will flow between the two B. A small current will flow between the two
terminals terminals

C. There will not be any current flow between the D. There will not be any voltage flow between the
two terminals two terminals

Q84. w gt & afz 0.7 V =1 areest NPN zifSreet % a9 uwd 3fifet & Sret e St 87
A. Y AT & ALY AT dlecsl Yarigd grem B. &Y effae & HEY AT FHie YaIgd g
C. & fHa & ALY HIS FC yaTed el g1 D. e cfiaer & ALY FIS dieest garfed AT grem

Q85. The speed of an AC induction motor can be controlled by

A. Changing the number of poles B. Changing the speed

C. Changing the resistance of the motor D. Changing the voltage of the motor
Q85. wwit gear Hiet i il T i o < e 2

A. 9 T F&IT H IRade B. a1fat & IRads

C. Al & gfarer # aRade D. X & drecst H IRadd

Q86. What would be the Synchronous speed when a stator is wound with a 3 phase windings,
connected to 4 poles with the supply frequency of 50 Hz?

A. Ns =1500 RPM B. Ns = 1550 RPM
C. Ns = 1450 RPM D. Ns = 1400 RPM
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Q86. s tw wer # 3 i Al & areve wek 50 Hz hiadd it awrs arer 4 oiel & Siier S at R vt @

=rft?
A. Ns =1500 RPM B. Ns = 1550 RPM
C. Ns = 1450 RPM D. Ns = 1400 RPM

Q87. How do you define the Nominal operating VVoltage?

A. It is defined as the electronic and electrical B. It is defined as the electronic and electrical
system which operates at a maximum efficiency system which operates at a minimum efficiency
with a given supply voltage with a given supply voltage

C. It is defined as the electronic and electrical D. It is defined as the electronic and electrical
system which operates at a maximum efficiency system which operates at a minimum efficiency
with a given supply current with a given supply current

Q8. Aiftrer SiTRfeT Ateest 1 19 4 afeiig w2
A. & 1S diecsT Aealls W A &7AdT & ATRC glel B, &7 75 decal Toalls W g1 &THdT & JATIRT 8ot

qTel SoIelfoleh U Solfarcehel TOECH &l Fgd 2l aTel Solaelialeh U Solfarcehel TOECH &l dhgd &l
C. & 7S FT Foollg ATAHAH &TAdT & Y HWC g D. & 718 e Foolls W +JoTdd &TAT § 3iORe glet arel
qTel SoIelialeh Ud Solfarcahel TOECH I Fgd 2l oI Ud SafFcae [AEeH # Fga B

Q88. How long does it take for the conventional VFD(voltage and frequency dependent) to turn
off the inverter in order to start creating power?

A. 100 to 200 milliseconds(ms) B. 10 to 20 milliseconds(ms)
C. 10 to 12 milliseconds (ms) D. 100 to 112 milliseconds(ms)

Q88. rer fomfor gt & % forw sheaivrer VD (dieest T shierait €iide) sadt 1 g o 3 foru fohem wm ot 272
A. 100 to 200 fRAFHUS(ms) B. 10 to 20 fAA%Us(ms)
C. 10 to 12 A®&s(ms) D. 100 to 112 fAe@®Us(ms)

Q89. What is the speed of an auxiliary rotor at no load?

A. N = Nsl/st B. N = N52
C. N = Ns]_ D. N = st/Nsl
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Q89. fomr vt % siifaTertt ex 1 wifey 272

A. N = Nsi/Ns2 B. N = Ns2
C. N = Ng; D. N = Ns2/Ns1

Q90. In solar energy, which is the one that converts the sunlight energy into electricity?

A. Photomagnetic cells B. Photocells

C. Photoelectric cells D. Photovoltaic cells
Q90. @i it &, a1 Fam & STt g % wewrer Y it wY fore F wraerdt 27

A. BITHTARCH Tod B. BIerded

C. Bl dod D. hicidlecs dod
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